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1. First 15 minute are allotted for the students to read the
question paper.

2. Allquestions are compulsory.

3. There are 5 sectionin this paper sectionA, B, C,DandE.

4. Section A and B have 1 marks, section Ais M. C. Q. and,
section Bis very shorttype

5. Section C has 2 marks and | type short type question.

6. Section D has3marksand lltype shorttype question.

7. Section E has long answer type and each question has 5
marks and internal choice.

Hvs — 3
q. 1 ﬁ.ﬁgﬁm?ﬁ?waﬁﬁgﬂwwﬁmmm
g - . 1
7. ?X_b) - 128 iero

| \‘(Physics-12) (1) (P.T.0.)



.,

.

(Physics-12)

i U TR B NGB IUD) 0.1% T B AT S0, @y

T ARRY B - ( ) 1
®. 0.05%UT oM 9 0.05% a9 ST

T 0.2% 9§ SR H,  0.2% T SR

) Riga gradia a3 deg & @1 ST 5 ATE /Hex
& | BT AF BT A R | 1
&, 5T @, 1.67x10°T

T 1.5x10°T g 1.67x10™T

T o o A areuer R BT HIoT 30° & Tl [0S 6
DT 60° ¥ | IS @ ueref o1 sl ¢ | 1
F. 2 V2

T \3/2 T 3

Valee W @RT B19R Soigel v ITel I Uh el | THIAT & |
2V diee W @R 81N IR Serdei= &) arel 8 Sy | 1

. 2v ., 4y
T \av HL V)2
foedt ST fhved @ p—<rsY Sig=mold d gRafdd o=
P foT7 SrUge ded ol WAISThaT © | 1
D, 2 , ‘ 4, 3
T. 4 Y, 5

Section - A
The torque acting on a dipole of moment p in an electric field E
I5- 5 - - L
a . E b X E
(a) 'E’ = (b) b x
(c) X p (d) zero
If a wire is stretched to make it 0.1% longer, it's resistance
will : 1
(a) decreaseby0.05% (b) | inprease by 0.05%
(c) increasing0.2% (d) decreaseby0.2%
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(c) The amplitude of electric field in an electromagnetic wave is

5v/im. The amplitude of the magneticfieldis: 1
a

(a) ST : (b) 1.67x10°T

(c) 1.5x10°T (d) 1.67x107°T

(d) The ar?gle (Zf minimum deviation is 30° for a prism and a prism
angle is 60°. The refractive index of the material of the prism

is: 1
(a) 2 ~(b) V2
(c) 312 (d) 3

(e) An electron strikes atarget with speed v accelerated by V volt.
When accelerated by 2V volt, the speed of electron willbe 1

(@) 2v | (b) 4v
(d) ~2v k (d) V2
(f) To obtain an p-type semiconductor germanium crystal, it
should be doped with impurity atoms of valency. 1
(a) 2 (b) 3
(c) 4 (d) 5
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Section - B
Q2 (a) AProtonis accelerated by 500 volt potential difference. Find
out the velocity of proton. 1
(b) Whatisthe principle of potential divider. 1
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Name the electromagnetic wave having a wavelength of
102m

The ratio of intensities of two light waves are 81:49. What will
be the ratio of their amplitudes ? 1
Write the names of energy bonds in the solids. 1
Draw a circuit diagram of a half wave rectifier. 1
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Section-C
Write the main difference between potentiometer and
voltmeter. 2
Whatis meant by displacement current ? Explain it. 2
The half-life of radium is 1600 years. In what time will 25% of a
piece of radium will remain undecayed ? 2
What do you mean by "biasing" of a junction diode ? Give its
type. 2
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Section -D
Q4 (a) Therechange +q,-2qand +qare located at the vertices of an
equilateral triangle of side 2I. What is the equivalent dipole
moment of the arrangement.
(b) Find the equivalent capacitance between pointsAand B.
8uF 2pF
I . | =
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” :,l: TBpF =L dF
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(c) Bydrawing the circuitdiagram of wheat stone bridge, obtain its
equilibrium condition.
(d) Prove that the potential energy of a magnet in a uniform
magneticfieldisU=-m . B
(e) Find outthe formula forpowePof alternating current.
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Explain the condition for sustained interference of light wave.

What do you mean by coherent sources ? In a young's double -
slitexperiment, the central fringe is displaced by 10mm when a
thin transparent sheet of refractive index 1.5 is placed infront of
one of the slits If distance between the two slits is 1.5 mm and

normal distance of screen from the slits is 1.0m. Then find the
thickness of the sheet.

Threshold wave length of a certain metal is 792 nm. What is
the maximum kinetic energy of photoelectrons emitted by this
metalifitis exposed to ultraviolet light of wavelength 396nm ?

Ahydrogen atom initially in the ground state absorbs a photon,
which excites it to the n = 4 level, Determine the wave length
and frequency of photon. :

Define -

(i) Potential barrier (b) depletion layer
(iii) diffusion current
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Write Ampere's circuital law. Using Ampere's circuital law, stablish
the formula for the magnetic field produced by infinitely long

straight current carrying conductor, 5
OR

Write the principle and working of the suspended moving coil

galvanometer and getits current sensitivity expression. 5

gegrad] g1 @ qil we ot 7 @ gRfia BT | b eopF @
HUTRA 110 dlee, 60Hz AC MYt A ST 711 8 7 uRuer ¥ gy &

rms A9 @) S HIRTY | 5
SIAdT

SIABHR &) X1 vd BRI o1 e aoi= oy | s veford

AT IS BT T HAEA © | 5

Define rms value of Alternating current. A 60uF capacitor is
connected to a 110v, 60Hz AC, Supply. Determine the rms value of

currentin the circuit. 5
OR

Describe the construction and working of transformer. What is the

importance of laminated core init? 5
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The energy En of an electron orbiting in the nth orbit of the
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hydrogen atom is given by En = - 14.6/n’ ev. Calculate the energy
liberated. When the electron transition occurs from the fourth to the

third orbit. Also find the wave length of the radiation emitted in the

this transition 5

OR

What are isotopes ? The three stable isotopes of neon ; \Ne®,
.oNe?" and , ;N?? have respective abundances 90.51% of 0.27%

and 9.22%. The atomic masses of the three isotopes are 19.99y,
20.99u and 21.99u respectively obtain the average atomic mass of

neon. 5
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Describe an experimentto prove thatlight waves are transverse. 5
OR

Define magnifying power of an optical instrument. Derive the
expression for magnifying power of compound microscope. S
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